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1 |diEE 1.4E+0 3.6E+2 360.6
2 |EHE 4. 4E-1 8.6E+1 86.0
3 |EFR 4 6E-1 8.3E+1 835
4 |EHE 7.5E-1 1.6E+2 161.8
5 |FEE 3.4E-1 6.5E+1 65.4
6 |ILEE 6.3E-1 7.2E+1 72.7
7 |BER 8.7E-1 1.3E+2 129.7
8 | &R 1.6E+0 2.0E+2 204.9
9 AR 1.6E+0 1.4E+2 139.8
10 |HER 2.4E+0 1.4E+2 1398
11 [HER 3.9E+0 4 8E+2 479.7
12 | FEE 1.6E+0 4.1E+2 410.9
13 |ER=Z4B 4.2E+0 1.2E+3 1,218.4
14 |fE)IE 3.9E+0 6.1E+2 616.2
15 |#RE 1.6E+0 1.5E+2 153.1
16 |EWE 6.7E-1 7.2E+1 72.6
17 [BINE 6.7E-1 7.8E+1 78.5
18 |fBHE 3.7E-1 5.3E+1 53.0
19 [ILRE 5.9E-1 5.7E+1 57.4
20 |REHFR 1.6E+0 1.4E+2 143.4
21 |IRBR 1.8E+0 1.3E+2 135.0
22 |EGER 4 3E+0 2.6E+2 261.6
23 BB 7.4E+0 1.5E+4 15,488.7
24 |ZER 1.5E+0 1.2E+2 124.4
25 |HBR 6.9E-1 9.6E+1 96.3
26 |RERAT 9.6E-1 1.8E+2 176.9
27 | KBRFAF 5.6E+0 6.5E+2 655.7
28 | RER 2.9E+0 3.6E+2 364.5
29 |RRER 4.1E-1 8.1E+1 81.8
30 |FnFLR 4.1E-1 6.2E+1 62.5
31 |BIE 2.0E-1 3.7E+1 37.4
32 |GRE 3.1E-1 4 AE+1 447
33 |RILE 1.2E+0 1.3E+2 129.2
34 |[LBER 2.4E+0 1.9E+2 195.0
35 |WOg 7.2E-1 9.0E+1 90.2
36 SR 2.8E-1 4 9E+1 49.7
37 |BIIE 6.7E-1 6.6E+1 66.8
38 |BER 9.9E-1 9.1E+1 91.7
39 | SR 2.9E-1 4 6E+1 46.8
40 |1ERE 1.7E+0 3.5E+2 352.6
41 |EER 3.4E-1 5.5E+1 55.0
42 | RIBE 8.6E-1 8.7E+1 88.3
43 |HEXRE 6.1E-1 1.2E+2 116.8
44 |RHE 6.1E-1 7.6E+1 76.8
45 |EIBE 2.9E-1 7.1E+1 71.7
46 |BREBE 4.4E-1 1.1E+2 106.5
47 |[HiRE 3.2E-1 1.0E+2 102.0
2E 6.8E+1 2.4E+4 23,896.2
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